T = e =
SHeeEE wEbhuReste £ B B § 5 @ £ M BB O B 4515811
47 58 6H 78 8H 9H 10A 114 128 18 2H 3H
FOLIEES) T [EEeH SHPTA 450 | 1 T T i 1 T B T [STHE 1 ; 1 [cH T T
B | waa - mEmag | K * _ B & = * & = K| x . |-
2 PR T L ‘é*ﬁ%iwmﬁgﬁﬁ?“ I [EATAND | 2 [ BRERE 2 T HERE BREEE I 7 \WEZ® 45 NCD [ 2z A
e & lpEmsmrsns B - o *x @ B P + A & = . |a o
3 IREEEE T R T3 | RESE ASENCD S| 3 - 3 3 3 3 |SEE 3 3 |HT 3 ESEISAEENCD 3 | FERASRASANCEH Y D
*| : & A * + P P H 04 & = A
ERL i =p: T HEDOH I EETRE (15 261 7|3 i 7 7 - T TRERE 2 4 Z] 4
| REaEE + W * B K & A i + 23 N
s | BEETEE LR paat )= SERAEE (203, 352 P[5 CTHHEERS G iy RS STCH T T eSS 57 [ 5 -
& . E x & B * + | AEEES Sk = & *
ST S W= 3 & = - T 5 &1 5 6 5 [FETEND ¢ [ ErEET & |EETET 13 5
i B & + % & g B & =i - #* &
7 7 7 RS 7 7 7. 7 7 | 7 AR 7 [FTAEES 7| ousE—meE
B P & gl * NESE A * * & (meEssE & EnEaRe &
B R R o= g § [WESE ASHNCE TR | 5 8 T RS 8 & EEE 5 5
Al * + A * F 04 & RERESEELOBHE [ 8 e + +
"0 [HIEIEE - EERE I [EEEEU SBET |8 12 ERE g RS ] 9 E] 9 9
. k| BB (15 A B Y = B * +| A * B CIT
0BT 0| s - 13 1 10 STOE G T EE= 10 10 10 0 BRI EETRs |10 VT
* & A & + Y ES B W % |HrImEe H A
1TTNRT 11 i T[RRI RES iljio8 11 i e [RRICE: =2 27 - A ¥ 11| BEEER 111, 2&s5@
& * Py & B s @ A * + Y Py
I3 [NRT - BEnS  Es 13 12 12|[FEERs 12 [FERe (F rerahes i} 12 (BEiwD 7 eSS i2 12 17 [FETRES
& |PTAIRE  FRES G : & & H _ & + pAES S e * B X Kxlem 1, 2870
13 (A e 2 13 13| 13(EEEgE ik} 13[BETOvomMES e |13 13|RADE ] EET TI[AEEASE - JGETE
+ E * + pY & | _ x & Bl & o+ | Tmt
Cime T4 |[EERTT 14 @ 14|EF 14 TR 14| Sh= T 14 & HTA - 14|78
B s|1, 2EmaEnn & = x + Al ~|pERRTEAS + Y & &
5[4 BRASE - GORE | 15|57 15 IR 1500 5lEr 5 IS ERES EEERan) 15| 9NERS P75 07 S P 7 N S BRA iz o 5] 15
B | R x + o B & : B Py & B o Ak - +
T6|FEss  HrRr 16 EFmIT 16 ERERE i6 16 |EF 16| #EDH 16| SAEEEP 16| AR 16 16|VWCahFoT— (EFE [16]- 16
W |Astiges (3 P & Bl - Py 2| . A x + _ A * = Bl :
17 [ GEEE GEEE) |17 3% 4 BEEE 17 GES 7 17 T7 i 7 17 R ES 17 EYAEI Ve T e '
i |EIRS . SEPE (AW | 2 R . 7 + Py * H Y & [ B|1, 247
R (26) A :
18| =EFH - BEE 18 181428 118 18 8 18| R P T ATHESRRS i3 i8 i8 FEIES 3 18
& + PN * Bl s K| & A P EiN P N
TS/ LEERE (1% P HR%| 19 110 ERRaGEaRE . TEAS |19 19 REERABAS 9= R - T v SRS 1 5| REEED ;] 5 9]
& B & & B laEEsEES * L8P T AFHEAS pY & B . * x e
s U WECHLT ST S S
0 T EEETEES 20 20| REF - WEE IO, |20 EEES 0 50 20 [BERTA 20| RESED 20 MEEE FERED) 20 WEFOA
£ H|®imeE (3F 201) | & o I X BEBES @BOSUT) | & gl - & & E |45NCD * d) e
7 71 BrERS 1| EREERE 3 R RIS S |1 BEER (QUEEHED) |21 RERTENE 2 ZI[fFFA~ QU 73 121 21| R 21~
g ] WIS (2023, 19 | =] eI - x| B * A P & | P T AMERTSH &
VRIS N TS N PRIV y a7 s 22 72 | R PR 22| IFAREES 22 [ 2 2P T ARER 7 22 Y )
A * EX Bl FEFES- NG I pY & Bi _ x x =1
PETE T BRI ES GEEEED SAEE |5 1z3 I b7 T T3 EEFE 3 IS s TEREST 73 P REREE 73
oY x B __ Cm & |EIFAE B #* o B A = Bl o 2l
74| FSFIRES (1290 7 - IR | 74 | B WDy |24 |5 X MEEREE(~ 50y | 27 pLIB | EAFARE 4| B ER prt D Pz SATIRERE Pz
* £ |HrREss A P E3t S * B N P & Al A
TS SFERS (EEEE) |5 75 5 EER 75 T EEREEEE 5 EEESEES PEE T 75 pis 13 P—
| FRAEE x N K| REETDHROP E] 7K & A i + X Ko
26| BN EEEr A 26, 28| 26 | B ER@P Z6 26 [BESmASINCD 761 - 6| P T AESRS 26 26 128 26|~
& |ERAE (36 A Bl % N * Ay “ * Al x A [
77 77 BT 27 BRTA Py ' 177 77 YiilE T EATA D 77 7/ | BEEE EHRED) 27 77
E B * EA P & B x & A |45NCD * L
i 5 BRI R 28 R RF - QU LI W RERES 78 BRTAFE 55 78 78 PR 23 78 i
B o | e s & Bl * £ 5 * rE p Y Py
39 B T HEEED ] S RETRT 79 LB PN T 75 7 7 39 :
A & + R |PFs EASARAM K Bij.wv W & =} S £
30 0 EHEAEEET 30 30| REEWELOP 30 0 SRR 0B 50 30EF 130 VI
PN * E] Wptn & Al X |IMELHASINCD E AL A Bl
[ G EEEARST 9 1= 31 T 131 B 131 Erﬁ“— 131 Eii
[ N A R e : x| . e ko s R W & e Al E
[ 14 16 Hi® 1@21E*§. 1% 185| B 14 17 H|# 1% 7 5|1® 1 18 H|#& 14 21 H]® 1552.05.?? 1% 18 Q& 14 18 H|#® 1fE18E1.?§ 14 11 H
# 2F 16 0|# 2% 21 H|% 2 18 H|# 2E 17 H|#®# 2F 7 H|# 2% 18 0|% 2F 21 H|# 28 20 H|# 28 18 H|# 24 18 H|% 24F 18 H|#% 2% 11
B 3 16 E|R 3% 21 H|E 34 18 H|HE 34 17 B8 3F 7H|R 3&18@5 3% 21 H|# 3% 20B|8 3 18 H|= 3fF 18H|A8 3% 18 H|a 3fF 10d
2 14 84 K| # 14F 114 B5E|{ @ 14 98 | E 14 94 KR 2 14 38 &R ® 1#E 98 IR & 15 118 BE| = 15 102 50| = 1€ 91 iFE | & 14 90 B5m | & 14 98 Bl & 1% 56 R
£ 2 £ 88 HiE| = 24 114 M5 = 24 98 B | & 2 5 94 iS5 & 2EIREE| & 2£ 08 5| £ 24F 118 BFEl| & 2E 102 5| & 25 91 15| & 28 99 5| % 2 08 FifE| % 2 % 56 I
B 3 4F 88 ErfEl| # 3F 113 M| s 3/ o8 &M% | & 3 94 L) & 3 38 B = 3£ 98 57| 34 118 | ® 3£ 102 I5RE| = 3£ 91 15| 34 99 15| % 3£ 08 K5[E| B 3% 51 B
= 15 203 B 2% 203 8 3% 202 4 SR 1% 1000 B 25 1094 B 34 1088 e




